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QUESTION 1

Which three products can be used to configure and manage Hitachi Dynamic Provisioning (HDP) on a VSP? (Choose
three.) 

A. Protection Manager CLI 

B. Device Manager GUI 

C. Provisioning Manager GUI 

D. Device Manager CLI 

E. raidcom 

Correct Answer: BDE 

 

QUESTION 2

Which method is used to assign an LDEV to a VSD when it is created? 

A. horizontal 

B. round robin 

C. sequential 

D. vertical 

Correct Answer: B 

 

 

QUESTION 3

A customer is using a Hitachi Enterprise storage system with clustered servers in an active/passive relationship. 

What must be done in Hitachi Dynamic Link Manager (HDLM) to ensure that the status of inactive paths on both passive
and active nodes is monitored regularly? 

A. Switch on Auto Failback. 

B. Switch on Path Health Check. 

C. Set the reservation level to 2. 

D. Set up Intermittent Error Monitoring. 

Correct Answer: B 
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QUESTION 4

A customer plans to use LUN security on a port that will have five Host Groups containing one server and one LUN
each. You tell them that it is not recommended to use Host Group 00 in this configuration; What is the reason? 

A. If LUN security is accidentally disabled, Host Group 00 gets deleted. 

B. If LUN security is accidentally disabled, all Host Groups including Host Group 00 will be deleted on this port. 

C. If LUN security is accidentally disabled, all the servers attached to this port will be able to access all the LUNs
registered to this port. 

D. If LUN security is accidentally disabled, all the servers attached to this port will be able to access the LUNs registered
in Host Group 00. 

Correct Answer: D 

 

 

QUESTION 5

A customer is planning to deploy the Hitachi Command Suite (HCS) in an existing production environment that includes
several VSP systems. What are two advantages of Hitachi Device Manager over Storage Navigator? (Choose two.) 

A. availability of the Host Data Collector 

B. ability to upgrade microcode non-disruptively 

C. ability to provision multiple VSP systems at the same time 

D. possibility of performing maintenance on multiple VSPs at the same time 

Correct Answer: AC 
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